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QUESTION 1

Image recognition tasks can be divided into three levels, according to the abstraction of the processing content, from
low to high?

A. Image processing, image analysis, image understanding
B. Image analysis, image understanding, image processing
C. Image understanding. Image analysis. Image Processing
D. Image analysis, image processing, image understanding

Correct Answer: A

QUESTION 2

The TF algorithm is a statistical word that appears in how many documents in the document set. The basic idea is that if
a word appears in fewer documents, the stronger the ability to distinguish documents.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

The histogram operation of the image is to count the distribution frequency of the gray value of the whole image. When
the illumination of the image is uneven, the operation effect of the histogram will be affected, and it is necessary to use
an improved algorithm for image processing.

A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4

Which of the following options is not a commonly used algorithm for keyword extraction? (Single choice)
A. TF-IDF

B. TextRank

C.SSA

D. LDA
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Correct Answer: C

QUESTION 5

(Judgment) The background difference method is to use the current frame in the image sequence and the background
reference model for subtraction, which can realize the detection of moving objects in the image.

A. TRUE
B. FALSE

Correct Answer: A
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